New Maths GCSE: R10 - Proportion Graphs

d is directly proportionalto t

Which of the following graphs could illustrate this?

d is inversely proportional to t

Which of the following graphs could illustrate this?

d is directly proportional to the square of t

Which of the following graphs could illustrate this?
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Correct Answer: ABCD

Explanation:
Which of the following graphs could illustrate this?

Correct Answer: ABCD
dis inversely proportional to the square of t Explanation:
Which of the following graphs could illustrate this?
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